


3adada 1

Hauirn: 2ACE

OrBer: 2 ACE = 15°



3aJa4ya 2

Hauru: MK.

OrBer: MK = 15

30°




3a4a4ya 3

Hauitn: AB

OrBer: AB =6



3ada4a 4

[JlaHo: a |\ b.

Hautn: x; y.

OrBeT: x=4,y=5



3adaya 5

Hauru: BD.

OrsBer: BD = 8

16




3a4a4a 6

JaHo: 23 =21+ 22,
CD = 4,

BC = 9.

Havitn: AC.

OrBer: AC=6

2




3aJada /

HaHo: AC || BD.

Havitu: CO, BO.

Oreer: . CO =4, BO=12



3a4a4a 8

JaHo: CE \\ BF |\ AK, 2/C
CE + BF + AK = 21 ys
Hairu: CE, BF, AK. A

Orser: CE = 3, BF =6, AK = 12



3ada4a 9

Hantu: S e SACD

OTBeT:

12

12

S apc

SACD



3aaa4a 10

[flaHo: KM, = M P
AB [| MP

AB= 18.

Havtu: MP.

OtBet: MP = 27



3ada4a 11

JlaHo: ABCD- Tpaneuums,
AM= 10 cm.
Hauvwm: CF.

OreBer: CF=5



3a4a4a 12

JAHO: SASD = 16,
AB = BD.
Haurn: Sacs.

OtBeT: SBcs = 4



3a4a4a 13

JlaHo: AB = 10,
AC= 14
Haurn: SBOC




3aaa4a 14

Havitu: AB.

60°

A

OrBet: AB = 5\/6



3a4a4a 15

D
JAHO: DE B 2,5 pasa
6onblue CD. 60°
Haitrn: <L . =
CD
CE 1++22
OrBeT: —— _ —




3a4a4a 16

JaHo: AB *BK=CB * BP.

Haimu: 2 A, 2 C.

OrBer: 2z A=60° 2 C=>50°



3a4a4a 17/

JlaHo: MK = 8.
Hauitu: PK.

OrBeT: PK=6




JMano: MK=S.
Haimu: PK.

3aaa4a 18

Hauvitn: OC




Jlaro: A ABC, AB = BC, DF || AC, CF || AB,
=13, BD =7, AC=10.
a)/Jokasare: A ADE = A CED

b)/lokazars: A ECF ~ A ABC
C)HaiiTu: EF.
d)Haritu: BeicoTy AABC, onymjeHHy10 Ha 60KOBYIO CTOPOHY.

E)HHPUITH.' SADE

S DCF



